Unit 1:
ACDFE 1

one variable multi-step
both sided equations

O

bjective:

Students will be able to:

solve equations by getting all
variables on the same side of the
equation.

write and justify appropriate
properties to steps.

Addition and Multiplication Properties

Distribution Property:
(b +¢) = ab + ac

Example:

6(7 +8)=6*%7 + 6*%8
=42 +48

= 9

4 Words to Remember
Commutative property of addition
a+b=b+a Example:6 +7=7+6
- Associative property of addition _
(@a+b)+c=a+b+0 - Example: {6 +7) +8=6+ (7 +8)
Identity property of addition : o
a+0=a ' Example:8 +0=8
Inverse property of addition ' ;
a+(-a)=0 . Example: 8 + (—8) = 0
Commutative property of multiplication
ab=ba Example:6+7=7+6
- Assaociative property of multiplication _
(ab)c = a(bc) Example: (6 * 7)8 = 6(7 * 8)
Identity property of multiplication
al=a Example:8+1=8
Inverse property of multiplication
' aal“=r1 Example:&t%=1
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Properties of Equality

These properties
allow us to balance
and solve
equations
mvolving real
numbers.
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Properties of addition and

Multiplication

These properties
are the
definition of
how numbers

should behave.
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